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Since he spread his cloak — INv5Y waBw 111’:

Overview

The Xn»12 cites a NP7 between ¥ and X"3. According to ¥" a father cannot
sell his daughter once she was married (even if she divorced while she was still a
7I10P). X" maintains that he cannot sell her after he sold her once before (even
though she is a 7710pP). However the reverse is permitted respectively to X" y"1.
There is a dispute throughout 0"w, whether we interpret a 2108 how it is read ( X w»
Xpn?), or whether we interpret it the way it is written by tradition (n701n% X ©°),
even though we pronounce it not as it is written.

- 1950 WY 1993 >0 X2PY 23973 *p0nPpa W
“"'w4 explained that by »''= the text of the Xn>12 reads 155 W99 3192 (once the
77X was 7v1 her [he married her]), the father can no longer sell her -
- (4,797 17707 NP P99 1959NT *NIPNY OX Y9 DING 1Y Sy TN Yy
For perforce we must establish that ¥"9 is the one who maintains X9p»» an @, as
the X1 states in the first P29 of y>37/70 noon -
= (x,79 97 $1992232 ))PVHT9D s‘ﬂ)”bN 299 NNONY OX YN
And we also need to say that it is X' who maintains n7Ie%% aR @ as the X3
expounds in M52 NOon -
= NP9 ONX W 9TION 290 0NN 9INT INPINN XNDM DY XNND INNN 1391997
Where the X773 there asks from this argument between X" ¥"7 regarding an
7R, on another issue, for the X713 states, there X''Y maintains X p»® a8 2 -
= 1199 X920 HNMDNY ONX YT NAN NYY 199N
And we challenge that view from here where X"7 maintains n=1e%% ax w». It is
evident from that X713 that X"7 maintains (here) nOn? ok ¥ and it is evident from the X3 in
77730 (mentioned previously) that ¥"3 maintains Xp»n%? oX w°. Based on the above nm»oin

continues to explain ¥"1 (according to *"w7»).
— Y DYDY NYHY 1L YOV 1195 92D NAPY %5299 w1999 Y99

" In this Mmoo and in the following one, Mo offers various way of interpreting the np1>mn between X" ¥"1. In
this N1vOIN he explains ¥" NY*w according to *"wA.

2y A" 7a.

? There are other NIXO" (which interchange the rulings of X"71 ¥"1 [see following °27 71"7 '01n]), therefore >"w" states
that the correct X077 is that it is ¥"1 who maintains MR IR NITOWH 101 QTR PX.

* See ‘Overview’. It is only if we say X7pn> oX W that we interpret the P09 (in 11,82 [2*vown] Maw) of Mwn 82 *121 oy
772 17322 71517 to mean that he cannot resell her if she was married (according to *"w19). [Others add ¥"13 Xpn?.]

5 See ‘Overview’. It is only if we say n1ion? ok w° that we interpret the P09 (in 11,83 [2°0own] Mnw) of K7 »21 Y7
7217222 771912 W to mean that he cannot resell her if she was already sold (according to *"w1D).

® Others amend this to 1 (instead of »27).
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And this is the explanation; and »''1 maintains that once he spread his nvu

over her for the purpose of 71, "the rule is that -
= 1199999 9199 139X NAN DEN N9 VIA NYWY) DN

If the master divorced her with a w3, and the 77X divorcee returned to he father,

he cannot sell her again -
= MHYIN 9NN MNAYY 1N NN 991 DTN PNT

For a person may not sell his daughter into slavery after a marriage -
- 7132 WY NIAY 93 19599 17333 9995 NIPRY BN YW 9204

For v"7 maintains X7p»» a8 v, meaning we read the word 17323, which is an

expression of a garment; referring to the 7°%¥ w7sw N0 -
- (ps orram IPNYA 19 1123 919905 199 sy 0193 Py N

For if 17222 is an expression of betrayal (as X"7 insists) we should have read it
Y7222 (with a 7" under the second '2), like Wwnw2 (with a v"»p under the 7"°w).

mdoIN responds to an anticipated difficulty:
$990519 NN NN YAN S901IY XYY ONN (*av a1y DI 19597 NPT 32 HY 4N)

And even though elsewhere we read wspa (7%mp R 710 X"d), there is no
difficulty, for there (by 1v351) we cannot make a mistake, however here (by
1722), one can make a mistake.

Summary
1732 with a p>7°11 means his garment (if X7pn? oX w°) therefore it refers to marriage,

that one cannot sell his daughter after she was married.

7 %y 19w WD is another way of saying he married her (like he took her under his wing).

¥ The verse reads. 72 17322 71257 W% ¥ (with a P70 under the [second] '2).

% 131 means a garment (N°2v); 1732 (with a 27°1) means his garment, which fits into the explanation of ¥".

' See “Thinking it over’ # 1.

"' 133 and ¥732 (with a p™°n) are nouns; they mean garment/his garment. 722 (with 7mns M 7¥mp '27) is a verb; it
means he betrayed. When you want to say ‘his betrayal’ it should read 17322 (7¥wmp [2wi] '27), as we see regarding
the verb ynw, that it is read Wwnwa (73mp 1">wi). Therefore since we follow the reading of a word (Xpn? OX w°), 1732
refers to a n°ov (marriage), but not betrayal (enslaving her).

"2 1> prop ooaxa reads, WY .

" The word v30 (he met) is also a verb (like 777°32), and nevertheless when we say, ‘when he meets him’. we read it
w302 with a p>7°1 (not with a y1p) and nevertheless it is still a verb, so here too even though 17322 is read with a P>
it can still be the verb of betrayal, and not a garment.

' X2 109 *yon reads 12 13032

'> The word 39 is a verb only which has one meaning — meet. Therefore we need not be concerned how it is read,
because it will always mean to meet. However the word 1732 can be a noun (and mean a garment — 7?1717 '27), or it
can be a verb (and mean betrayal — 7xmp '377), therefore if the 771N meant betrayal it should be read with a y"np
instead of a p .
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Thinking it over
1. What is the simple meaning of the p105,'® 77971 A7y [19] XY WK T°378 V2 7y7 OX
73 77322 A9nY Ywny X7 33 ovy?

2. Is mv01n adding anything to >"w15?

' See (text by) footnote # 10.
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